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SECTION - I (MATHEMATICS)

peg=

(M (p=q)V(s=p) @ (¢=p)Np=9)
3 pvg (49 pAg
{x/xEAA.B}= |

() {x/xe4-8} | ) {x/xeB=4}
3) '{x/xeAuB, x¢ AN B} - (4) None (98 )

1.
SR N SO
If () x\/_Z- then«/-f..

f(x)=x\/§ ";%/_i' wans 2=

V31
2
If n(A) =5, n(B) =2 then the number of mappings from 4 to B is
n(A)=5, n(B)=2 wowd 4 208 B 8 do @dorre vogyg . : _
1) 25 2) 10 3) 32 4) None 58 sc)

A root of the polynomial 2011 4 (—1)2012 is

$POU 1 (—1)2012 s eatoiss® a8 oo | |
M 1 2 0 (3) -1 (4) None (& &)
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6 If o, are the roots of x2 —3x—1=0 then <5

4 11
o fen’x? ~3x—1=0 © drotngsst —+5=

B
1 1

1) 3 @ 3 3) -3 4 -3
7 Anon-convex region among the following is
' & 800 TS HogrErs FSEH 30 B ?

. Ya . “ v Y
(1) ) ‘ €)) (4 LB s
g ,
;2012 2012

g I —(2011)

x—»“ZOlIA ) 2011— 3

(1 20201 @) 20112017 3) 20122011 (4)" 2012(2011)12
11 »

S RTHRT
1 1 1 1
) 3528 @) 35-202 ®) 377328 @ 3B+

10 o-38, a—B, a+ B, a+30 are four numbers forming
(1) AnA.P. with common ratio 23 (2) A GP. with common difference 23
3) An‘A.P. with common difference 28 (4) A GP. with common ratio 28
=38, a—=f, a+f, a+30 ed o soages 3 ArdFan ?

(1) 28 Fede IS do wos@Ed (2) 20 dorodsiv fo oEd
() 28 dorossiv Ko wosSES (4) 28 oo B Ko Ko 38
, =15 —47 ‘ )
11  The series J— e «/_ f 3+32° B+s2 * forms ar‘l,A.P. The common difference is
1 -15 —47
a8 woSAEAS R dsdven \/§+\/5 P B2 | Basdn T @ond. dorossin dod 2
(CYRIWLY Q) 22 (3) —22 (4) None (26 s°&)
. sinx T
S = s --
| 1 NE) R
M1 @ 3 ® 5 @ 7

1

sine[l - 1——1-5;]
—COS - .
K K K >
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14 'sin®32°+sin258° =

‘(1) sin®58° +cos? 42° @) cos? 58° +sin? 32° )
' 2 2 '
15 sec?27°—~cot? 63°= ' '*
1 3 Q) 0 3) 1 (4) None (6 s
16  cosec?42°—tan? 48° = |
1 -1 @ 3 3) 1 (4) None (36 s)
17 sin®33°—sec?47°=
(1) cos? 57° - cosec?43° () cosec?43° —sin?57°
: 2 1<) o
(3) sin?57°—sec?43 (4) None (@5 s)
18 tan?52°+sin?9° = \
(1) sec?52°1cos29°—2 @) sec? $2°=cos29° +1 ‘
(3) " sec? 52° —cos?9° (4) None (6 %)
19  cosec? 10°—sin2 40° =
%)) tan? 10° + sec? 40° @) cot?10° + cos? 40°
B3) tan?10°—sec? 40° (4) None (5 sc9)
20 sins =
2 .
2 cno 2 4n0
(1) co0s”50°+cos”40 @ cos? 40° —sin? 50° ;
(3) sin®40°+ tan’ 50° (4) None 8 )
Vi
, CoOsS— =
21 > ,,
2 o .2 o ’
(1) cos 40° +sin” 40 ) cos2 40° — cos? 50°
(3) cos? 40° —sin? 50° (4) None @b ¢)-
22 (x_—l-l)2 +(y +2)2 =25 = | '
(1) x=25cosf—1, y=25sinf—2 © (2) x=S5cosf+1, y=5sin6+2
(3). x=5cosf~1, y=S5sinf—2 (4) None (28 s°t%) !
23 (x—3)(y—4)=49 =
(1) x=3cos8#+7, y=4secfd+7 (2) x=7cosf+3, y="Tsecf+4
(3) x=3cosf—7, y=4secfH-7 (4) x=7cosf~3, y="Tsec6—4
24 (x+1)(y+3)=25= _ ‘
(1) x=sind+35, y=cosecf+5 (2) x=35sinf~—1, y=>5cosec §-3
(3) x=sinf—5, y=cosecf—5 (4) x=S5sinf+1, y=>5cosecd+3

w
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(x=2—(y-3) =16 =

(1) x=2sech+4, y=2tanf+4 (2) x=4dsecf+2, y=4tanf+3
(3) x=2secf—4, y=2tanf—4 (4) x=4sech~2, y=4tanf -3
14sinf+sin@+sin® 6+ ... +.. co=
(1) sec® 0 +sech tand (2) sec’ 0 —sec tand
(3) cosec?d + cosech cotd - (4) cosec®d—cosec § cotd
l+cos€_+cos,29+cos39+... tooo =
4 . T . i . T
8 Sm-z— : cOS — Slna
W —— @ —22— O —F @ —
tan o — cosé ot X cosd tan 7 + cosé cot - + cosé
4

Point of intersection of the lines x+ y=2012 ; x—~y=11is
x+y=2012 ; x—y=1 Bpo podd Dot

(1) 2012,1) (@ (Q,2012) (3) (2012,2011)  (4) None (96 s

Slope intercept form of the line ~z~+—§ =1ig
f+%=] DY) ‘599 B, T POEDH S50
a

]
i

1 =2 x=b (2 S x+b 3 9.4 x+a  (4) y=—§~ ~a
() Y= a () y= a () Y a a

The line y = x+1 passes through the points

Yy =x+] @b 3p o Dotode oae Fdod ?

(1) (2011, 2012), (2012, 2013) (2) (2009, 2011), (2013, 2015)
(3) (2012, 2011), (2011, 2013) (4) None (98 s

2 3
Slope of the line %+—Z+2012= 0

2
+32 2012=0
2 -—+ 3p Bwg Tw

9 9
n < ) "9‘ ) “w -3

Area of the triangle formed by the points (-194, -167), (4, 31), (83, 110) is
(-194, ~167), (4, 31), (83, 110) e Docohye H0 I\BD (Bebessy Frogho

(1) 411 sq. units (411 5. osrdew) (2) 413 sq. units (411 3. asrdew)
(3) 417 sq. units (417 5, a6r0e) (4) None 6 =)
16 . 16 x oy 1 '
vy +E—7 1 then line +7 b+11 4 passes through
16 16 : y _1 ‘ "
7 m——l B a+7+b+11 3 wdy 8 o Dotud ot P 7
| { 1 1 } ! 1
W &7 %m0 @ \3@+7) 3p+11)
4
®) [a+7 b+l!] @ ¢4



34 General form of the line y =2x+3 is

y 2x+3 o B Qg FEdH Erviw

(1) y=2x-3 2) y=3x-2 (3) 2x—y+3=0 (4) None (2 scv)
35 Intercepts made by the line y =5x—1 on the coordinate axes are ‘

NWrdrgop -y =5x—1 o 3p Sam woss poarew

1 1 1 : 11
—s] """")1 s ¢ — Tz
(1) 50 7(2) 3 (3) 5 I 4 55
36  Area of the triangle formed by the line % + % =1 with the coordinate axes is f
Arrgos TH+I=1 st Gy D66 Brbeie g Fregho
(1) 28 sq.units (28 . cxrdén) (2) 14 sq. units (14 <. anrdew)
(3) 56 sq.units (56 3. otrdew) (4) None & seev)
37 Among the following, two paralle] lines are
Bod st 08 Body ddross é:pé)‘l ArDpos ?
(1) 2x+2y+13=0, x+2y+11=0 (2) 3x+3y+11=0, x+y+11=0

(3) 3x—2y+1=0, 4x-3y+2=0 (4) None (8 s)
38  Equation of the altitude through (8, 2) of the triangle formed by the points (8, 2), (4, 6), (-1, 5) is
(8, 2), (4, 6), (-1, 5) BochHod® 885 Bavednsd (8, 2) Dom FH vowdy éﬁ)éé@fﬁ.\)
(1) x=5y—42=0 (2) x+5y+42=0 (3) Sx+y—42=0 (4) S5x+y+42=0
39  The points 4(3,4), B(2,—1},C(—4,3) form a triangle. If D and E are the mid-points of 4B and
AC respectively, then the slope of the line DEis =
A(3,4), B(2,—1),C(—4,3) o8t D5\ [Bebetnd AB @dat AC o s Doden
DD D sdaty E woand, DE @ng oo

2 2 ‘ 3 __3_
(1 3 At ¥ 5 @ -3
dian of the nuMmbers == »~ 1= = |
40 Median of the num 15,5 15130 3 18 ;
11 111
-5- -2- ,*g,z, }réospgo éJQSSﬁéém
M = @ 5 @) % (4) None O8 s

41 The rcmprocal of the arithmetic mean of the reciprocals. of the numbers 3 and 5 is
3, 5 od dopgosH ISTHre wof Hugrhidn Ang; D5t b
1 ' 15 ' 4
(M) 4 @ 7 ® 5 @ 3
42 The sum of 30 observations is 540. Then, their mean is
30 wofiwe 3wddn 540 wond, oo Hrikn

(1) 54 @) 81 3) 18 (4) None (98 s

43 Inadata, an observation with the highest frequency is called
(1) Mean (2) Median (3) Mode (4) None
28 Seroddng®, a8 KOR FHPIHEL Ao ©oFh0d JHOGK ?
(1) wos redsd dikw  (2) Sogsgriesin (3) aioEssn (4) @b s
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Empirical relationship between mean, median and mode is

(1) Mode + Median = 4 Median — 3 Mean  (2) Mode ~ Median = 2 (Median — Mean)
(3) Mode - Median = 2 (Median + Mean) (4) None

w0l “els foggtodn, a‘mpgﬁésfm oo wFusiue ederdd dowogo

(1) exdrovshn + a‘ncggﬁéén =4 a‘ntﬁsf‘iéaﬁn — 3 wod Al ik

(2) 2doesdn - Eﬁ.)q’)gﬁéén = 2 (é)(égﬁéa‘m — wol rieddsy Hidw)

(3) arovssn — é.)égdéa‘m = 2 (?%ﬁé.ﬁn + w0l fededy Hridw)

(4) {8 =)

A=l o gte
T2 -

1

: 4 4 1 4 4 .
(1) L ]] _ (2) [1 4} (3) L J (4) None & %)

Which of the following products is commutative ?
81 800 S* DILOH ogren I ?

T REA] ol e
M \:“ Oil [0 9} 2) I;i S:H:g 3j| 3) i ollo 1 (4) None ()& s°%)
|

1
Ifi«4_=[ J and det (4)=8 then x =

x 1 '
A=L :l:naqm o3 det(4)=8 wowd x=
X

(1) +3 ) +4 (3) 2 (4) None 6 sth)
The product of the matrices 4, B and € is associative means

4, B &0xn C #rBSo opin &rddy Tgonsn «dssk

(1) AB=4C (2) A{BC)=(4B)C

(3) A+(B+C)=(4+B)+C (4) None (b =)

Calculate the mean for the following data :

& 308 SEpoFhude Hiko EHFD0d

Class Interval _
SE48 0—50|50—100 | 100—150 | 150—200 | 200—250 | 250—300
Frequency —
Bty 8 15 32 26 12 7
(1) 145 (2) 245 . (3) 143 4) 144

“For the data 99, 100, 101, 102, 103, 104, 105, 106, 107, the value of the mode is

99, 100, 101, 102, 103, 104, 105, 106, 107 seroinids erdvetdn Jeod

- (1) 103.25 @) 102.99

(3) 104.3 (4) does not exist @Bav)
The formula to find arithmetic mean % using the deviation method is

‘9083 Do 348 (deviation method) orgor writy LD Hr@in ¥ = -

xC

L 1
;ff us] @ %
k

Zfi Uj

1

k
Y fiu
1

| 1
(1) A+}J

i , )
(3) 4 t~ xC (4) None (& s+

CEEP-2012_A] 6 IR cConta...



S2

53

54

55
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A'ABC ~A PQR . If AB=3.6, PO=24, PR=54, AC="
(1) 3.6 ) 8.1 (3) 5.4 @) 6.8
In the adjacent ﬁgure £ A=60°and AB AC are tangents. Then OB =?

B

1) 6B3em Q) 6em ) Tcm @) 6v2cm r
O Bosorr Ko $yzd8 AB, AC 58 Spen. £ A': 60° waws OB = 2 7 ‘v
C

(1) 643 pod. () 6 2ol T 0. (4) 642 2ol s
In the figure /B is obtuse, then AC? =
/B ©8% Saorr Ko Dot 4C2 =

D B 5 C
(1) 4B*>+BC? - BD? () AB*+BC
(3) AB*+BC?+2BC-DB (4) AB*+BC?-2BC-DB

ABCD is a trapezium with 4B || DC . If AC and BD intersect at E and A4AED and’ A.BEC are
sirnilar, then

ABCD 3% oo Ssodyy=os® AB || DC, AC %800 BD e E' 6 podoordy AAED, ABEC &
J650 Bebmdndd,

(1) AD=4B (2) AD=BC @) 4p=DB - (4 AD=4C

If AB.YZ =BC:XY = AC: XZ then A ABC is similar to

AB:YZ = BC: XY = AC : XZ wond ABC @hesdnd 808 |Behedn a8 38rd Babsin. ob
1y AXYZ (2) AZYX 3) AZXY (4) A ACB

A triangle and a parallelogram each have the same base of 8 cm and area of 40 sq.cm, then their
heights are

28 @b, $5m088 B Ev HErD g0 8200, B Pregin 40 o.d? $On &Z$l‘55
T den o ?

(D 8 4 2) 10,5 (3) 40, 20 4 6, 4

ABC is an isosceles right angled triangle, /C =90° then 4B% =

/C=90° m o ABC sdvagariro Bebeins® 4B% =

(1) AC? ) 24C? 3) BC? (4) 34C?
Computer science is also called as '

(1) Informatics (2) Physics (3) Chemistry (4) General studies
Soirgerl By erard) o Era Hordd. '
(1) =S95)488y (2) &8s wpiw (3) orapS wRpdn  (4) dedem g
Meaning of an algorithm '

(1) Method of solving the problem (2) Table

(3) Figure (4) ‘Lines

oS80 edrr .

(1) sosge 3603 258 (2) 946 3) ago (4) Ao
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SECTION - II (PHYSICS)

In a.screw gauge, if the zeroth division of the head scale is above the index line, then the comrcction is

(1) Negative (2) Positive

(3) ' May be positive or negative (4) No need of correction
é.!gjﬁaé"éc)'fo&m Arde iy B B HOBS i), ddG

(1) 2werso : (2) oo

3) éa"é&so 8¢ awerg)go (4) 150 eddoo B

Heliocentric theory was first proposed by

(1) Galileo " (2) Kepler (3) Tolemey (4) Copernicus
arsg Boiess dEroding Fncddorr HEFaoDH

(1) 7O Q) 36 @) &b 4) $%50)55

A body moves from one corner of an equilateral triangle of side 10 cm to the same corner. Then

- the distance moved and displacement are respectively

a8 0% 10 Po.d. abedn do Sdoardn Babes 28 Bo 08 wobenBd B0A «d Jgint 303 @ 2 5%
atreso 305 drdo, Fdgrosdnen B

(1) 30 cm, 20 cm (30 %0.8.. 20 0.8 (2) 30 cm, 0 cm (30720.80,0 %o.2.)

(3) 0 cm, 30 cm © 0.5, 30 20.&) (4) 30 cm, 30 cm (30 2o, 30 20.2.)

Two balls are falling freely from the heights with a ratio of 9:64 towards the earth. Find the
ratio of their velocities on reaching surface of the earth.

Soth wo&hen 9164 A fo o 4G Iy m PrdBH dEsHETon 0, i aDoSerd) Tows

508 g Irre A

(1) 34 (2)y 43 3) 83 (4) 38 )
Onaplanet a stone projected vertically upwards with a velocity of 10 m/sec reaches the highest point
after 2 seconds. If it is thrown with a velocity of 20 m/sec, it reaches the highest point after a time of

28 [(krop 10 ./%. 3608 dudesie JWds orow 2 DY Tood® KB M BEosod. TV 20 D/,
308" JBHS® wb 0] IS FchoDH Bavseo _

(1) Tsec 0 8 (2 2sec 228 (3) 4sec (428  (4) 6 sec (6 25 |
A car moves from A4 to B with a constant speed of 20 kmph and then from B to 4 with a constant
speéd of 30 kmph, then the average speed of the car is

28 S5 A 08 B 20 8.2, / ro. 520588° Fow, BN B S08 A © 30 Bl /Ko. S0s88° 86A HIS ©
526 oD 0B

(1) 24 kmph 24 8.2. / 0. ' (2) 25 kmph (25 8.2 / 0.y

(3) 10 kmph (10 8.%. / 0. (4) Zero (Erigo) B

The ratio of angular speeds.of minutes hand and hour hand of a watch is

28 (i&odrdo S50 e m)g.p HHBox0- ot e Bdos Srdwe I3

(1) 1 2) 6: (3) 12:1 , @ 1:

If a body of mass 5 kg revolves in a horizontal circle of radius | m with a frequency of
7 revolutions/second, the centripetal force acting on the body is

5 8% (G508 o a8 SHH 1 Do TEEo o S YT BEes® WG 7 @mw;ﬁnw S
Borhdyst, » Hpdp $08% ool wvo

(1) 440 N (440 rgergo) (2) 484 N (484 drgeo) |

(3) 968 N (968 argts) (4) 9680 N (9680 smgeos) )
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69 ""fhggme period of oscillation of simple pendulum is doubled when

70

71

72
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74

75

76

(1) - Its length is doubled 7

(2) The mass of the bob is doubled

(3) Its length is made four times

(4) The mass of the bob and the length of the pendulum are doubled

w8 o SPogo Ay BoTdEd otk 8¢od SovdBID)

(1) oD g Bod BavsB,

Q) Kt (5850789 Bedos BobsB.

() o PaEHD Ferd Be SoHIBL.

(4) B (550730 Do S8 FaEH 3o BavITP.

A curved road of 50 m radius is banked at certain angle for a given speed. If the speed is to be doubled
keeping the same banking angle, the radius of the curvature of the road is to be changed tq

50 &3 Tgrgo o 28 yEss frdo a8 I8 Tew SLuAH. ©B Sesierd) God, 3md) 380
301)&;%;9 DTS &rg Tgred) ™ ArE S,

(1) 25m @25 (2) 100 m (100) (3) 150 m (150 &v.)— (4) 200 m (200 )
The one that is not an example for electromagnetic wave is ‘

(1) X-rays (2) -y -rays (3) Radio waves (4) Sound waves
&1 {800 IS* S8 LI 08 SBoRIVOY SIS IO
(1) X - 8edwen 2) v- 8s=dvew (3) 3BBc1r dSorsswen (4) O SBordven

Velocity of sound is measured in hydrogen and oxygen gases at a given temperature. The ratio of
two velocities V, /V,, will be

a8 ag‘Lms 38 SIS qssa W0, 953356‘ asa Wdosss V), [V, o aaga
1) 1: (DA 3 1: “) 32:

Ina stationary wave the distance betwcen an antinode and an alternate antinode is

a8 ?gd S60HENS® 28 HHYosd g'zéo‘, o SSTED 528 HORNE BRYOSH rddwe gy drdo

A A 3
(1 A ® ;5 ® 5 @ 7

The veloclty of sound in air is 360 m/sec while that in water is 1440 m/sec If the wavelength of .
sound in air is 2 cm that in water is

mOS* (530 Brio 360 Q. /D, Seses‘ &g 30 1440 B/, St S80f B¢so 2 %)o.f.h. @o.-bzélijéi S804
%O : l _ .

(1) 0.5 cm (0.5 20.1)(2) 2 cm (2 208) (3) 8cm 8 o) (4) 16 cm (16 2o.db)

The frequency range of microwaves is ‘

DE* Sdorre FRrParge B

(1) 10°Hzto 10!' Hz (2) 106Hz to 108 Hz

(3) 103Hz to 10° Hz ‘ (4) 10'2Hzto 104 Hz

Velocity of light in glass is 2 x 108 m/sec. The refractive mdcx of glassis

mers® 508 Jo 2 % 108 L./ . e sifesds oeao

; ® 3 @ 7

N W

2
M3 - Q@)
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According to Hygens theory, light travels in the form of

(1) Waves (2) Corpuscler

(3) Some times waves and some times corpuscler (4) Electromagnetic waves
Faiais dod810 VoD s ™ Roredod.

(1) Ssorsswen (2) Sedwen

3) SN SSorrenrriy, 4 DLESAHIY 08 Sdorrenre

DOFY G SexdwenrTd
To get interference phenomenon, the distance between the two sources must be

(1) Less fo the extent possible (2) More A

(3) Less or more : (4) Phenomenon does not depend on the distance
86 BHBaY ooHBH), 08 wdsto g &r8o

(1) doowdod S5y dm dodsBh. (2) d5pd BossBH

(3) 83 B8 ey (4) ByPRH000 edse DAY Er6o DB WErESEs

The repulsive force between two magnetic poles is 20 dynes when they are placed 20 cm apart.
If the distance between them is decreased from 20 cm to 5 cm, the force of repulsion between
them is 4 '

Both @qﬁé‘zoé Gyo g Erso 20 0.4, SNIPE T HEE o IEGw 00 20 B o g
AroeR) 20 0., 0d 5 0.5, 0% SRODIS® o Dugg Ko DEGe 2o

(1) 80 dynes (80 @& (2) 320 dynes (320 @)

(3) 160 dynes (160 @) (4) 40 dynes (40 @)

Even after the removal of the applied magnetic field, a magnetic material retains certain amount of
intensity of magnetisation. This property is called

(1) Susceptibility (2) Magnetic Induction

(3) Retentivity (4) Permeability

28 BabI08 Sardo Sd%08 WOHIYEBEEHo Th wrirg WMol FErd) SV, SIS* §od
©OBI 0l BHS DHaES Bearand) Jrody ?

(1) 32p00d (2) wavdmgos (howm

(3) 6BosseS (4) 3% Bogs

Which one of the following groups belong to ferromagnetics ‘

(1) Water, Brass, Gold (2) Alcohol, Oxygen, Platinum

(3) Iron, Cobalt, Nickel (4) Gadolinium, Aluminium, Chromium
Bod Shrdrinos® HE° waddmod SHardrdn

(1) . add, worrsin (2) wepHFS, wBy=S, FEho

() =iw, Sferd. J8S (4) RS oo, warghdavo, Easo

The units of magnetic flux density

(1) Weber/metre (2) Weber/metre?2 - (3) Weber-metre (4) Weber-metre?
©OBIY08 WO FOBSH BArDhY

(1) 36 / Hod (2) 36 / Hes? (3) o - Do (4) o - How?
Among the following wires made of the same material, which wire will have highest resistance
28 Segans* Jaswds $od Srost edns Ao Sod D6 ? : 3

() I=lm, A=1mm* (1=1>. A=125%) ) I=1m, A=2mm* (=12, A=22D)
B) I=2m, A=1mm* (=22 A=122) @) I=2m, A=2mm*(1=2D. 4=2 D7)

CEEP-2012_A] | 10 (VARG NERAR Y (Conca.
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84 Ten 1dehacal resistances, each having a rcsnstance of 1{) are Jomed in parallel The combination has

the resultant resistance of
&S’?rg&éi 10 dewd Ko 10 bprod BaErosdorr EOVSHE, PO oate
M 100 @ 10 3) 0010 @ o010
85 Gram/Coulomb is a unit for '
(1) Potential difference (2) Specific resistance
(3) Electromagnetic force (emf) (4) Electrochemical Equivalent (e.c.e)
P / b v 808 Pirso
(1) >BJavs Bo T (2) 233560
(3) ogamyos 200 ‘» (4) desog® B0 Sergoso :
86 The work done in passmg acurrent of 4 A for 2 seconds through a conductor having a potentlal
difference of 8 V is .
28 50S” 8 Leo FBIOHS édé»élg» 4 ©0o%Ho0g Dd)g& @m.r;ﬁ» 2 DEP rdw (@G 28R 59
(1) 4 Joules (4 =Sy (2) 16 Joules (16 &Sy
(3) 64 Joules (64 &Sy) 4) 1 Joule (1 &)

87 A step-up transformer is used on a 120-volt lme to provide a potentlal difference of 2400 Volts at
2. Ampere current. If the primary has 100 turns, the number of turns in secondary are

38 35 - ©F ErE>65% 120 Sove BanSst K0HoDBIE, 2 YohaDy S BIEro B 2400 Lepe
2BaBS Fso DGYABH. HED SIS0t Sty Sopg 100 wansHd Ao Sgvo &4 Wy domg

(1) 2000 -(2) 200 (3) 400 _ (4) 1000

88 An instrument used to measure Isotopic masses is known as :
(1) Calori meter ‘ (2) Spectrometer "
(3) Mass spectro graph (4) Sphero meter’ '
ISP (BT DO . FBDLLH dEArAOK HBEEHD
(1) 36% Ded Q) S e
(3) @éscw? 5850 8D @) et o6

89 The isotope of carbon used in carbon dating of finding ‘the age. of fossiles is’

5638 déeh B¢ Jorere DoV BaRLHIoDHY GHEATAOD SES oSty .

1) C-14 (2) C-12 (3) C-13 (4) C-15
90 Among the following, choose the incorrect statement '

(1) A p-njunction diode conducts isi forward bias’

(2) A p-njunction diode offers less resistance under reverse bias

(3) A p-njunction diode does not conduct under reverse bias

(4) A p-njunction diode is used as an electric switch

08 TAS* 385 DHBRL QYT R

(1) e 200°86° p-n 208 Eard b EHbrod Jotd.
(2) A58 aLrSS* 28 p-n 2058 ARG By B SLLBALD.
(3) It wOXBS® 28 P-n 20E8 BERG s PIFOD B,
(4) p-n 208S d&rc&)@ D8 RS AN
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SECTION - III (CHEMISTRY)
The e&tom of the element which shows half filled d-orbitals

(1) Vanadium (2) Zinc (3) Chromium (4) Copper
zpi'.)aéom Ao Dods d@a;)wgzsa ST Sared HCATEG OB ?
(1) 538a%0 (2) =08 (3) B*odo @) oA

The syrhbol of the element with the outer electronic configuration of 4s!, placed in S-block is
45l DOFS Jrgios® ©oS8% $2r8 farosin Gng) Ho88hn
(1) Na " @ Sc 3) K (4) Rb

The elemcnt which shows three unpaired electrons in its atom, in ground state is

2?3)‘?3‘0.1)655 83 8838, adsS BRwes® Sord) 2000 J)osvgéég Srd Soroshn

B (2) Be (3) F (4) N

Mention the total number of electrons present in the p-orbitals of the atom, h'aving atomic number 15
SErep Hogg 15 Ko HuresH Hrmds® Ho 3udo .p-eaéz)mgc'f’ Bo Jogd dopg Jos ?

1 3 ) 9 () 2 4.5

+
The bonds present in NH, ion are

(D One ionic bond, three covalent bonds

(2) One covalent bond, three coordinate bonds
(3) One ionic bond, three coordinate bonds

(4) Three covalent bonds, one coordinate bond

+
NH4 walrSS® fe odhnen

(1) 2% woiedE wogo. Hird HEBraErod Lo

(2) a8 SSradod 2050, Lurd BdgoD foéucﬁmsﬁ)ai) 2I0GFEN
3 a,é OXrdE 20¢50, Hurth Hhadgond HDAFEIOD BOGF

4 émvcsa $CIradad B0, 28 $Rdean HErENol 0G0

One of the following phenomenon takes place in the formation of NaCl molecule

(1) Na atom acts as oxidising agent (2) Cl atom acts as oxidising agent

(3) Clatom acts as reducing agent (4) . They undergo neither oxidation nor reductton
Fdono §'88 el JEYBLS® @ B8 S0 - ’

(1) ¥F8ovo ubysddm HdForvi (2) £68 wdysdadm sdTowd

(3) §65 godsdedT sIBat (4) obysom md ganstm 365 md exrid
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97  Ifthe positive ion configuration is 152 2 s2 2% and the negative ion configuration is | g2 2 s 2p%
in an ionic compound, then what is the molecular formula of the compound
2.5 OIS SErgos® re)s eanS dargio 152 2 52 2p6 805 Qrrdys worrS Jamgdo 152 2 52 2p°
®ond, ¥ Kmﬂgmua_w a}*d)&u' o7 '

(1) KF * . (@ NaCl  (3) NaF @ ka
98 The period which contains s, p, d block elements .
- (1) 2" period (2) 3" period (3) 4t period (4) 1%t period
sp.d grf furoses) bBons
(1) 25 58056 Q) 35 H600s () 45 58006 @) 1% bBons
99 Ionisation energy of nitrogen is higher than ionisation energy of oxygen. This is-due to
(1) Decrease in the atomic radius (2) Increase in the atomic radius
(3) Stable electron configuration (4) Completely filled orbital
PSS g, andstn 38 dwvd ugyES SoB Jn . w0 o
(1) sotre a0 Srito (2) s6drm TgRgo b
(3) §6 Jogyde dargditn (4) o o8 w8)ird dodd

100 Which of the following pair of atomic numbers indicate the elements of the 'S' block ?
& (800 TS &) 28 Qroso HHrm Jopsw 'S g urosey Lrdyow ?

() 11,13 2y 10, 12 3) 11,12 4) 8,9
101 Atoms with small size have ) : '
(1) . High ionisation energy (2) Great tendency to loose electrons
(3) More electropositive (4) Less electron affinity values ;
WSAre DOrEEN ééozrén" Gy JSErHY
(1) ®onN80n ¥8 Jandm sokod (2) oS S*yah Mgerdo oo b
(3) 6% darso o JEpd . (@) JopeS I dovsos Skns
102 Alkaline earth metals are highly reactive. Because they are.
(1) Electro negative in nature (2) Electro positive in nature
(3) Atomic radius increases _ (4) Non-metallic nature
$6 £0)38 S*Fen Trer OB Sk, BB w60
(1) swroso Gm Redo - (2) &% o
(3) Horoso HESrm HBEFERO WEMDG (4) &% dgardo
103 Magnesium oxide is
(1) Acidic (2) Basic (3) Neutral (4) Amphoteric
SoAgao w2y & Bob dgFmrd) SO dokod ‘ |
(1) e 2y sv (3) sei () og &gasd
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104 The element which gives dazzling light when burnt in air
mOS* Bro8sHd DHorod 5208 =8y freso
(1) Be ) Ca (3) . Sr 4 Mg

105 If 500 ml of 0.5 M HCI solution is changed to 0.1 M strength, find out the volume of water to be
added.

500 2.8, 0% 10500 A0 0.5 M Hel [Drsmsss 0.1 mEss SmaysBiss) aos dod S Sossoi.
(1) 2500 ml (2) - 1000 mi .(3). 2000 ml (4 1500 ml
106 How many number of moles are present in 3.2 grams of NaOH ? (Mol. wt. = 40)
3.2 riwo F8ovo MBS (ve rdo) adod a) Hrdh Ardo Sog Jod ?
(1) 0.08 2) 0.008 - (3) 0.8 (4) 12.5
107 Find out the volume of 0.05 M HCI required, in ml, in order to neutralise 0.2 M NaOH of 40 ml.
40 2.9, 0.2 M NoOH.[grsesitanty’ 8eg8oisonts, 9) 2.9, 0,05 M Hel wissin?
(M 160 - (2) 80 (3) 45 4) 120
" 108 Mention the compound among the following whose acidic property can not be explained by Arhenius
theory _ ‘
©BI00T berodin & Bob HGrginos® 33 Gug vl LD JBoIBE ?
(1) CH,COOH 2y CO, (3) HCl - L (4)__HNO,

109 ifthe pH of a given solution is 9, find the concentration of [H+] ions in it.

&8 @) PH dend 9 wond o awg), [H+] woIry MmEs Jod?

1) 105 @) 10°9 3) 10! (4) 10714

110 If the pH of a solution is zero, what will be its nature ?
(1) Acidic " (2) Basic (3) Neutral (4) Amphoteric
o8 (o) pH = 0 wowd @ gm0 o ol Sl 7

(1) & 850 (2) =0 650 (3) &&3 g5o (4) Dagieard §o
. 111 Functibnal group in alcohols . .
vy FS HRon. S

0 0
: I 1
(1) - CHO 2) ~C-OH (3 -C-OR 4) - OH
112 Alkenes are more reactive than alkanes. This is due to
(1) Double bond (2) Triple bond _
(3) Single bond 4 Yalence of carbon is satisfiéd
e@a_So). o) S0 So8 JnD \:‘)cr-séoé:& SOA dotrow. BIE Ko sedmn
(1) agwogd) S8 todes (2) @oocedy DA dodos
(3) 28 wogrd) EON-dodow (@) =65 sctrmod Sody Sy
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113 Unsaturated hydrocarbon among the following

(1) ~Propane ~ (2) Butane (3) Ethene (4) Ethane
&4 808 m&)é‘\l@.f)oé )R B )8
M) @55 5 () ergdS () sbS (4) &35
114 Carbon compounds which react with Tollen's reagent ;
(1) Alcohol (2) Aldehyde (3) Alkane (4) Alkene
5°8%) °6508° S65F°0 $°6)S $Besin | :
(1) sopes (2) usaps (3) &S ) obys
115 The type of coal which gives large amounts of heat
(1) Lignite (2) Bituminouscoal (3) Anthracitecoal (4) Coke
oY, ﬁg}'.‘l)lb B8 B°CH Bod ?
1) ams 2) DaxgDIS & (3) wospS S (@) Sob B
- 116 Polysaccharide among the following :
(1) Fructose (2) Glucose (3) Sucrose (4) Starch
& 808 IS FO+E3E |
(1) ps*= () oS (3) ArEtS (4) vod dorgan
117 The process of obtaining alcohol from molasses is called as
(1) Dehydration - (2) Defecation (3) Carbonation (4) Fermentation
RS 208 vepFSH P08 IFID) HOLE) ? ‘ :
LON- 0 (2) 35848 (3) =& (4) 8eg BB
118 The compounds which contain Zwitter ion structure
(1) Aminocompounds (2) Acids (3) Amino acids (4)~ Ethers

200 BorS Jomeo So waHew

(1) 2B sorgives  (2) widpen () 28 wirer - (4) Susbew
119 The following catalyst is used in the hydrogenation of cils

AP0 PE*2IE00a0I0 HBBNSHE St Bod BBe)EEENK. TG _

(1) Man @) Fe @) Ni @ Co
120 Glass is a mixture of '

Parig rrerd® o dopg Sorginen ) ?

(1) Na, CO,, CaSiO, (2) CaCO4, Alx(SOy); -

(3) Na, SiO;, CaSiO, (4) BaSO5, CaCO,
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